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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 AlZHIZL SO 6,379,000 0 6,379,000
= 3,770,000
= 2,609,000
01 Al&H| 6,374,000 0 6,374,000
Ogds sES4 A 243tAY
6,374,000,000& 6,374,000
[ 3,766,500
s 2,607,500
03 Al 20HHI 5,000 0 5,000
OBBE SEZAX HHIAY ALL0Y
5,000,000& 5,000
s 3,500
= 1,500
SE MEE SAHAAEY 70,939 69,485 1,454
101 @12A4H| 70,939 69,485 1,454
04 JIZtN22 XS 2+ 70,939 69,485 1,454
OAE=E 3,000,000« 12&«1H 36,000
OAE# 2,278,100« 123 +1Y 27,338
O4tES 7,600,464 7,601
Ot D ZUENE TEAMY 1,425,000 1,244,000 181,000
= 998,000
[Ea 427,000
403 MR HHMSAHE01H 1,425,000 1,244,000 181,000
[ 998,000
o 427,000
02 SII2S0 U H=E 2 E AL 1,425,000 1,244,000 181,000
O 0K J|=MENE gAY
1,425,000,000& 1,425,000
[ 998,000
Ea 427,000
NZee2dsH == ) 283,000 280,000 3,000
= 183,000
= 21,000
[Ea 79,000
307 212+01& 283,000 0 283,000
= 183,000
= 21,000
s 79,000
05 eit?(& = 283,000 0 283,000
OAlZ SEH At 283,000,000 283,000
[ 183,000
= 21,000
o 79,000




2A:

WEESER

BH: B MO ENLAI (SHHY AL/ S - 5E)

Rl LESMOENL ALY (Cre|: ®M2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OIS CHSDIAIY (M &) (B &AL 150,000 150,000

401 AIZHIZ SO 150,000 150,000
01 Al&HI 150,000 150,000
02023 OIS 2SI A 150,000, 0002 150,000
=R=E 0SS0l IIC’J(Z—’E—SQE%)(@%M%) 15,000 18,000 23,000
401 AIZHIX S THE 15,000 18,000 /3,000
01 A28l 15,000 18,000 A3,000
OsEsdEg NEAME 15,000,000 15,000
227 2A 22 & 243t 5,680 5,680 0
201 2= 4,000 4,000
01 At22t2lt] 4,000 4,000
O=Z X+ &2 =& S20HAHl
8,000 68 »100! 4,000
202 04l 1,680 1,680
01 =LHA LI 1,680 1,680
O X7 At=2te] & Jd&A A8 U
ofel(2t2) 70,0002 6 H *23] 840
OzzX7 & HAlE TAY =JX 88 =
LHOIHI (2t 21) 70,0002 x6H *23] 840
SEE SZ0IE UIS2USIIAS(HEAY) 450,000 0 450,000
401 AlEHIZL SO 450,000 450,000
01 Al&H| 449,000 449,000
OBEE S0t IE2SIIME
449,000,000& 449,000
03 AIZSTHYI 1,000 0 1,000
OgEs SE0t= =2=JIA0 TE
& 20| 1,000,000& 1,000
SHES EHAOHS OIS 2SIIAIS (D EALY) 450,000 0 450,000
401 A2 HIRL 201 450,000 450,000
01 Al&H| 449,000 449,000
Odil2H A0S OIS2=IIAHE
449,000,000 449,000
03 Al 2 HHI 1,000 0 1,000
Odil2d FA0t= O=2=J A0 HE
A& 2 THYI 1,000,000 1,000
20 2ANI0S OIS 2HSIIAIS (D EALY) 450,000 450,000
401 Al HIZ S 0HbI 450,000 450,000
01 AlZ8| 449,000 449,000
O20tH 2IMIDHS DS 2FSIIAE
449,000,000 449,000
03 Al 20HHI 1,000 0 1,000
OZ0rA 2/M0s O=2t=SJ A0l e
INE=L N L] 1,000,000 1,000
Sud J|ZMENE ZHME(SEEY) 425,000 0 425,000
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e EFEN
HE: Bhs AOEHLAY (SEHYSL/ 5 - S&)

CH9l: UBHZ AOIEIN ALY (o) &)

SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2

A

298,000
127,000

HJ

401 Al HIZL 01| 425,000 0 425,000
298,000
127,000

Mo

01 AlZH| 425,000 0 425,000

425,000,000 425,000
298,000
127,000

oA

T BE0IS FUME HOAE gAY 600,000 0 600,000

600,000

Jm

S
=
nx
o
Ha
I
o
o

600,000 0 600,000
£ 600,000

01 Al&tt] 600,000 0 600,000
OFE S20t2 FOIME BOAlE LA

o 600,000, 0002 600,000
600,000

|0

Jm

,298,000 1,442,000 A 144,000
965,000

98,000
235,000

r
J
Ofi

HH

i
12
b
19
=
P
>
1%
ol
08!
0F0
i
!
B

381,000 379,000 2,000
278,000
31,000

oA

72,000
403 THAIEMS =01 381,000 379,000 2,000
278,000
31,000
72,000

Mo A

02 S712S0 e H=E P E AL 381,000 379,000 2,000
O

XIS MBI HEAR(BE 85,2
) 381,000,002 381,000
278,000
31,000

72,000

[z

Moo

FHOUXA AL (LIAE AIE) 376,000 376,000 0
279,000
29,000
68,000

Moo

on

0

403 XHXI &

>

SIS =201 & 376,000 376,000 0
279,000
29,000

68,000

[

Ao

[
o
[




RS
B AUks AR LA (SR YL/ 52 - &)
Rl SEFFIIUES EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 SIS0t 2 S A A 376,000 376,000 0
ORI MBI HEAS(LIA AIE)
376,000,000 376,000
= 279,000
< 29,000
T 68,000
FHAXA HEAIL(GHE Bt - 23) 541,000 541,000 0
= 408,000
[ 38,000
T 95,000
403 XM SAH=01H 541,000 541,000 0
s 408,000
== 38,000
o 95,000
02 S 2S0ItH et =& 2 €A | 541,000 541,000 0
OF AN S HEHA HEAMS(OHZE ot2 - 2
=) 541,000,000 541,000
s 408,000
s 38,000
s 95,000
AHEHR] 22| (&Y - SAIILLUU X/ MHES - DTS 3,321,925 1,261,610 2,060,315
= 864,000
CH 1,000,000
=S 393,000
s 1,064,925
AHHAEX] 2kel 3,126,925 1,120,000 2,006,925
= 864,000
CH 1,000,000
< 345,000
T 917,925
AHET 29 & 2l 684,925 333,000 361,925
201 er23| 81,725 72,800 8,925
01 At2tltl 14,220 16,220 /2,000
Ot (s3)eXl LAl 4,500,000 4,500
Ot (S3)EXl 2A2a AIAE 3H| 89|
1,800,000 1,800
O=gg LetadHI Set2stdly 2
29 S ®A2cl 3,000,000 3,000
Ot (s3)eXl 2eldR =& S204Al]
8,000 x4 »60 1,920
OMA(=3)EXl FHl S ZHl extg
3,000,000 3,000
02 s3=gHl 67,505 56,580 10,925
Ot HE g2 = 2= LS
2,530& 50021 1,265
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SM: DHEEA
FM: MACHK el (M - SAIGLUEX/AEES - DS
CHel: AHTHR] 2ol EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ORI JIRS, cotv & &JIRS(L
=8 1,100,000 *5I A+ 122 66,000
OUA (Sl ZeIMRA & - GlE S
=38= 0003 #40H A+ 128 240
202 04| 3,200 3,200
01 =LHOLI 3,200 3,200
OLRIEH 2¢ 2 Z2l0l 12 92 =2
= 0| 20,0003 4 =402 3,200
308 AHXIEMSOIH 300,000 300,000
07 M HHIRE = 300,000 300,000
OgIBNE BIHAHAE ASE 2L
= 300 000,000 300,000
401 AlZHIZ SO 300,000 257,000 43,000
01 A28l 300,000 257,000 43,000
OUA(SI)EX JIEAE S a78 =,
gHl S |XZa 50,000,000 50,000
OHR(S2)EX +2FE U EHDI S B
] 50,000,000& 50,000
OSSEME ZLHAY AZSZSETAHR
SAl) S 200,000,000 *10H A 200,000
Sts3HA Se2etdle HEAIE 1,442,000 0 1,442,000
= 864,000
= 345,000
[Ea 233,000
401 AIEHIX R0 1,442,000 0 1,442,000
= 864,000
= 345,000
= 233,000
01 Al&H| 1,387,000 0 1,387,000
Ot sEHASS 2 ASAIS
1,387,000,000& 1,387,000
= 864,000
= 345,000
= 178,000
02 Zeltl 50,000 0 50,000
Ot sEHASS 2 ABAIS
50,000,000 50,000
03 Al 20HHI 5,000 0 5,000
OstussHA=Sg2eHE A
5,000,000& 5,000
HESSHA 2y A 600,000 0 600,000
CH 600,000
401 A2 HIZL R 0HbI 600,000 0 600,000
CH 600,000
01 AlZH| 600,000 0 600,000
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2A:

WEESER

ma: s Soay| (Dl &ete) OIEHJIEN
Chel: J1=2 &l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 S5=g4l 3,371 3,371 0
OgR=N RUSHR=s 3,371
-2ERH 4002 *4,0002 1,600
-SJ|2# 2,530 7002 1,771
203 =] 7,500 7,500
01 D22 HARFA| 3,300 3,300
Ol 22g g2=4H| 275,000 * 122 3,300
M EA2ER=A 4,200 4,200 0
ORKNEg g4l 350,000& 12 4,200
HWRE=(DlchMA) (M - SAISLNHR/ASHEE 1,637,940 2,777,857 21,139,917
i)
WA XIE 1,637,940 2,777,857 1,139,917
WA XIE 1,637,940 2,777,857 1,139,917
701 JIEtRI HSHES 1,387,940 2,777,857 1,389,917
01 JIE=I AN ES 1,387,940 2,777,857 1,389,917
Ot ZdMY S8 82
299,140,000 299,140
OssX7xd S8 HE= 1,088,800
-SSEA HEXelAld 2 2el
388,800,000 388,800
-HESSEA H=s22Z JI=d 0l et
AEE==H| 100,000,000 100,000
-2 SAMSSsIEX ZEAE (22H)
500,000,000 500,000
- s3HX HES X
100,000,000 100,000
®RIIsdES 250,000 250,000
01 IIsdES 250,000 250,000
Oggz SAZ LIS (AEINEAY)
250,000,000 250,000
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